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HH-ID
Status in
Haushalt

Partnerschaft
homo(1)/
hetero (0)

 

Kinder
ja(1)/nein(0)

(meine
Zielvariable)

Erläuterungen

5 1 0  1 zu Spalte 2

5 2 0  1 1= Haushaltsvorstand

5 4 .  . 2=hetero-Partner

5 4 .  . 3=homo-Partner

5 12 .  . 4=Kind

5 12 .  .
alle anderen Labels für diese Frage

unwichtig, sind diverse andere
Familienangehörige9 1 0  1

9 2 0  1

9 4 .  .  

9 4 .  .  

9 7 .  .  

9 11 .  .  

13 1 1  0  

13 3 1  0  

13 12 .  .  

27 1 0  1  

27 2 0  1  

27 4 .  .  

27 12 .  .  

49 1 1  0  

49 3 1  0  

49 12 .  .  

51 1 0  1  

51 2 0  1  

51 4 .  .  

59 1 0  1  

59 2 0  1  

59 4 .  .  


